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Page 120:

The formula

` After t s v = ∀t′. (t‘ > t) ⊃ (s t′ = v)

should read

` After t s v = ∀t′. (t′ > t) ⊃ (s t′ = v)

Page 121:

The formula

` Init pkt zero ti =
∃t n m. During t (t+26+n) zero F ∧

During t (t+27+n+m) pkt F ∧

pkt(t+27+n+m) ∧
After(t+28+n+m) F pkt ∧

After(t+29+n+m) T zero ∧

t′ ≥ t+22+n+m

should read

` Init pkt zero ti =
∃t n m. During t (t+26+n) zero F ∧

During t (t+27+n+m) pkt F ∧

pkt(t+27+n+m) ∧
After(t+28+n+m) F pkt ∧

After(t+29+n+m) T zero ∧

ti ≥ t+22+n+m


